Name Date

Addition Facts Review

View the chart below. The sum of 3 is shown where the row for the addend 1 and the
column for addend 2 meet. 1 +2 =3.

Write the sums and complete the chart below. Add the addends by column and row.

+ 10 1| 2] 3| 4| 5| 6
oo |1 |23|4|5]¢6
| {1 | 2|3 | 4|5]| 6| 7 | <= addend
2|23 |4|5|6]7|8| +2 < addend
3|3 [4|5|6[7|8]09 3 < sum
414 |5 |6 |78 9110
51516 7|89 101l
6|16 |7 |89 (I10[II]12
Write in the missing addend.
4+6 =10 0 +2=2 2+ 7 =9 1 +7=
| +4=5 3+_3 = 2 +2=4 1+ 0 =
Write in the missing sum.
7 6 I 2 3 4 6 2 8
0 3 41 41 42 40 42 44 4|

7 9 2 3 5 4 8 6 9
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